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Section A: MCQ {30 Questions x 2 marks = 60 marks}

Choose the most suitable answer and shade its number in the OAS provided,

1.

The chart below shows how some living things can be grouped.

Living }Things
A
grass /
X
chicken

Y

toadstool

Which one of the following best represents X and Y7

X Y
(M Feed on fiving things Feed on decaying matter
(2) Reproduce from seeds Reproduce from spores
(3) Edble inedible
(4) Make their own food Do not make their own food

Some animals are classified into 4 groups as shown below.

A B C D
dog duck shark snail
sheep eagle lizard crab

They areA grouped according to their

(1) meihod of reproduction
{2} movement

(3) habitat

(4) "body covering
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Study the classification table below.

Vegetative Propagation

Reproduce from’ Reproduce from - Reproduce from
underground stems leaves roofs
ginger begonia carrot
onion bryophylfum radish
paim African Tulip yam

Which of the following groups of plants is classified wrongly?

(1)
2),
(3)
{4)

ginger, bryophyllum, radish
onion, begonia, carrot
palm, yam, African tulip
carrot, Afrtcan tulip, radish

The diagram below shows our digestive system.

Which one of the following correctly identifies the parts where digestion of food and

absorption of large amount of water take place?

Digestion of food Absorption of large amount of water
(), A B C D F
(2) ADE F
(3) D, EF G
(4) A C D G




5.

~Which senses canwarn a-blind man of food that has wmzn wac?

(n
2
{3)
(4

A sight
B: taste
C: smell
D: hearing
E: touch

B and C only
A and B only
C and D only
A and D only

The diagram below shows the skeletal system of a human.

Which of the following represents the types of joints labelled A, B, C and D correctly?

v
g

e oy

Fixed = Hinge Bali-and-socket
(tH A E ~ B,C,D
@) C B, E A, D
3) B C.D A, E
(4) A D.E B.C
3
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7 Muscles and bones must work together to enable-us to perform our dziy . shvities.
Muscles usually work together in pairs as shown in the diagram below.

Which one of the following sets of muscle action would allow the arm to be bent?

Muscle P Muscle Q
(N relaxes ) contracts
(2)- relaxes relaxes
(3) contracts relaxes
(4) contracts contracts

8. A mango fruit ripened and fell to the ground. It was left undisturbed for a week.
Birds were seen feeding on the fruit during this period.

No. of birds
A A

o 1 2 3 Time

Which one of the graphs A, B, C or D shows the number of birds visiting the fruit during
that week?

EENZ
oOoor
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9. The food web below shows how some animals depend on one another in the ocean.

Algag ~—~— Coral =—— Parrotfish ——— Barracuda

The following pie chart is used to present the number of these organisms of the above

food chain. /
A
D V
C

Which of the following represents the relationship among the organisms correctly?

A B C . D
(1) coral parrothish barracuda algae
{2) algae - coral parrotfish barracuda
(3) parrotfish algae coral barracuda
(4) barracuda parrotfish coral algae

10. Study the following food web below.

/ tilapia » kingfisher

water plant \

shrimp » snakehead

T

' tadpocle ————+ dragonfiy nymph

Which of the following statements about the food web are true?

A: Energy from the shrimp is totally passed to the kingfisher. -

B: Only the dragonfly nymph, snakehead and the kingfisher are secondary
consumers. :

C: Tilapia is the only food source for the kingfisher,

D: The shrimp, dragonily nymph and tilapia are both a prey and a predatos-

{1y A and B only
(2) Band C only
(3) Aand Donly
{4) C and D only



% ~"-The bar graph shows the number of some organisms in a single plant community from
February to May.

12.

1841
16 1
14 ;
12 -
': e \{ . I
No. of animals 10 . %E :qunrre
; ‘ §$ A fungus
‘-'.5“-1\‘ / %E A snail
- §E & ant
55 N,
Mar Apr
Month -

Which of the following statements on the organisms are incorrect?

(1)
(2)
(3)
(4)

A: There are only four types of animals in the community.

B: The population sizes of fungus and ant increased throughout the four months.
C: The population sizes of squirrefs remained constant from March to May.

D: Two populations of organisms showed a decrease in number from April to May.

Aand B only-
B and D only
B. C and D only
A, B and D only

Birds have different types of beaks to help them survive in the environment.
Their beaks act like tools and objects, with specific designs and functions.

Study the table carefully.

Type Objects representing the types of beaks Exampie of bird
A Sieve Pelican
B Nutcracker Eégle'
C Chopsticks Heron
D Drinking straw. Humming bird
E Satay stick Parrot

Which items best represent the respective birds?

(1
(2)
(3)
(4)

A and B oniy
B and E oniy
C, D and E only
A, C and D only
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14,

Siudy the food web below.

GOOty L*‘***—»—u*_— T Dooty -
Zooty
Wooty T LOO/
\l e

What is the common source of energy for Looty and Dooty?

&) Gooty

(2) Wooty

{(3) Footy

4) Sun

Process Product Factors needed for

—— ]

the process
e\(apbration water ~ light, carbon dioxide

(2) respiration water, carbon dioxide, energy 0Xygen, giucose
_— T "

(3) | decomposition carbon dioxide light, oxygen
i {(4) photosynthesis i water, sugar Oxygen, chiorophyli
7
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15, An eagle slows down as it nears a fish in the water, grabs it and then it flies up onto a

branch to eat it. Some moments passed. It flies off the branch and returns to its Sspeed

before it slows down again when it spots its prey.

Which graph below best represents the speed of the eagle as it changes with time?

Speed Speed
Fy i
\ \
N \ / \
oS ' \‘ \ /—;—
(1 ) Time (2) Tr_me
Speed Squd
4
N
/ \ L

> — -
Jime

(3) Time (4)
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16.- Study the flow chart about materials carefully.

Does it conduct No Isit No
electricity? »  waterproof? - ———
Yesl Yes
h
No s it a good Is it | No i
conductor of fransparent?
heat?
Yes
Yes
..,_I:JE_" Does it rust?
Yes

Which of the following corresponds correctly with the materials above?

R T v )
(N hair clip drinking straw umbrelia
2} gold ring brick windscreen
(3) paper clip boot raincoat
(4) sCrew sock spectacle lenses
9
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17. The table below shows some materials classified und sr thiee differant groupe X, Y and

18.

Z

Materials
X | ¥ | z |
envelope siik thread
batioon cheese disposable cup

Which of the following items is grouped incorrectly?

(1) envelope
(2} cheese
(3) disposable cup

(4)

thread

Geeta sets up the following circuit. She wants to find out if the different types of
conductors would affect the loudness of the beil.

ST s

1

1

conductor

SRR i N jﬁ)
! \’DBeH =

In order to get the correct resuits, which variables should she keep the same?

(N
(2)
3)
(4}

A: Number of batteries
B: Type of belt

C: Type of conductors
D: Number of switches
E: Voltage of bulb

A and C only

B and D onty

A, B, Dand E only
A B CDandE

A0
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i

<itee used ilerent materials W, X, Y and Z ‘v sef up four circuits as shown.

Set-up D

Set-up C

He tested the four circuits. The results of his experiment were shown in the table below.

r Setup ] Does the bulb light up?

L . Yes . No

{ A N

! B v

| C N

‘ D N |

\What @an Clive ondude .Gﬁmﬂ.{ 2;'(?"‘\‘\%*,

(1) Material Y is a non-conductor of electricity.

(2} Material W and Y are conductors of electricity.

(3) Material X and Y are non-conductors of etectricity.
(4) Material X, Y and Z are conductors of electricity.

11
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20. The sun rises from the east to the west every day. The length of shadow of a tree

changes as the sun changes its position in the sky.
Which one of the graphs shows the length of the shadow of a tree throughout the day?

ay | 2) N
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= g =
3 / z N
e e ™,
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£ t 1 t » Time < " —p——— Time
A B C A B C

. The diagram below shows two simple machines.

- Effo/
Effort Load /

Load:

Machine P Machine Q

After a lesson on simple machines, some pupils commented on Machines P and Q.
Which pupil made an incorrect statement?

(1} Fupil A: P changes the direction of the force.

(2) Pupil B: Q makes the effort moves a shorter distance than the load,

(3) Pupil C: A greater effort is needed to overcome the ioad when using P.
{4} Pupil D: Q allows a smaller effort to overcome a heavy load.

12
£




22. Dan and Don Carrie " oul an experiment i

a toy.car up a ramp varied with the
varied the ang|

it how the force applied-to pull

ramp as shown in the diagram. They
mber of wooden blocks.

angle oi “n2
e of the ramp by changing the nu

toy car spring balance .

Which of the foliowing graphs shows their results?

(1 Force: applied (2) Force applied
) - : !
I — *Angle L*“_"_*‘_Wﬂmgle
(3) Force;rapplied (4) Force:}appfied
Angle *Angle
13
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23, Peter atiached a thick elastic band to e wi ot one end and a pole holding a basket of
marbles at the other end.

N

pole

marbles

i i basket

Fearing that the elastic band would snap, what could Peter do?

A: Make the string of the basket longeT.

B: Remove some marbies from the basket.

C: Add more marbles to the basket.

D: Move the basket of marbles nearer to the wall.

(1) Bonly

(2) Band D only
(3) AandC only
(4) A, CandD only

24. The drawings show experiments some pupils setup in their class. The jars were sealed
so no air could enter or leave.

In which set- up would the organisms most likely die first?

_——tl . =

. ..... —] T T A ’ sealed {id

3




25 Paul placed five drops of wax at the cornars of & pentagon metal frame as shown in the ™

diagram.

Paul heated the frame with a2 Bunsen burner at position Y. The drops of wax melted
completely at different points of time. Which of the following shows the correct order of

the melting wax, starting from the one which melted first?

CO000
Ooomo
gmom
Mm@ P W
== e ol

15
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26.

e

Farhan conducted two experiments with materials W, X, Y and Z as shown below.
screen—|
R —
{ [ Electronic
temperature
\ \ taking
&N Material AN Material

Set-up A Set-up B

He recorded his findings in the table and graph for set-ups A and B respectively.

Results from Set-up A

[ Material Image seen on the screen

w Very bright patch of light
X Bright patch of light _
Y Vague patch of light
Z |- - -Darkpatch 7
Results from Set-up B
Temperature Z
Y
X
w
»>Timel/ sec

What conclusion can he draw from the above data?

(1) Al the materials are good conductors of heat.

(2) The darker the image, the more heat the material retains. .

(3) Materials that are transparent are usually good conductors of heat.
{4) Thereis no relationship between the two sets of data.

16
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)
-3

-

: Crceurt diagram as shown below. - o
Thers are Sour switches marked $1, .82, 83 ang S4. )

S1

(2) S1and g4 only
(3) S1ands? only
(4) S1, 82 and S3 only

(2) Bandc only
(3) CandD only
(4) B, CandD only

17
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" For Questions 29 and 30, use the information betow.

Devi found out that iight travels only in a straight line. She set up 3 sets of equipment P, Q
and S as shown below to test out her findings. She looked through the holes from X as shown

by the arnrows.

3om wide hola

3cm wide hole

@ - 3cm wide black holtow rubbar hose

C

Y,
—
T

AR

29. Which of the set-ups would she not be able to see the light from the candie?

(1) Ponly
(2) Qonly
(3) QandSonly
(4) Pand S only

30. Devi also learnt that reflection bends light and white surfaces refiect fight best.
In which set-up(s) would she most likely to see only reflected light from the candle?

(1) Ponly
(2) Sonly
(3) Qand S only
(4) Pand Qonly

18
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. Section B: {16 Questions : 40 Marks}
Answer all the questions in the space provided.

31. The diagram below shows a leaf on a plant that has been kept in the dark for two days.

-

At the start of the experiment, it was tested for starch. The result showed that there
was no starch in the leaf: 'Néx’t, 1he leaf was covered by two different coloured
cellophane papers, as shown in the diagram below.

T T green : red
cellophane paper Cellophane paper

Then, the plant was then placed in the sun. After 12 hours, the leaf was plucked off
from the plant and the cellophane papers were femoved. The leaf was tested for
starch again.

(a) In which of the areas labelled A, B, C or D was starch found?
Explain your answer. (1m)

(b) What was the aim of the experiment? {1m)

19
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.32, Study the oiz acal - ohart selow carefully and answer the questions that follow.
Plants
r I _
‘ Non-Flowering | Floweri
l Poisonous Non-poisondgﬁsw Weak stem rStrong stem
u v W |
- Non-woody ‘ Woody
X /
(a) Basedonthe classification chart, describe plant Y. (1m)
(b) Inthe above cha;rt, which letter best represents ‘palm'? (1m)
(c) Whatfeature/does plant W have to ensure itself in getting enough sunlight?

Explain ybur answer. {1m)

20
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33. The human body is made up of different systems to carry out important functions of the.
body. The systems are represented as shown below. The arrows symbolise different.

substances moving within the body.

i digested food

. e —r 8 —— 4w

oxygen and
digested food

[ All body parts <

--------- rich in carbon dioxide

- richin oxygen

Study the diagram above.

(a) What are systems B and C? (1m)

System B: _

System C:

(b} Whatis the function of system A? (2m)

21
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34 studies were carried otit on sCMe animna’s living in @ forest, The resulis were shown no

the graph below.

No. of animals
A

6001
500

400—1

3007

200

100

% ll % ‘l | —»Year
1999 2000 2001 2002 2003 2004 2005 2006 '

ﬁ_

{a) How much did the popuiation increase between 1999 and 20017 (1m)

{b) Name one possible factor ihat led to the decline between 2004 and 2005. {1m)

35 Study the pictures of the nymph of the damselfly and dragonfly below.

o
’-<,'_.a/f/' ::"-\s “:::5;)’-,/ /

/’l s i S e

e P /NN .
" Damsd R R
Damsefly nymph Dragonfly nymph

(a) Which nymph can move through water more easily? (1m)

(b) Explain your answer in (a). (1m)

. o



36. Josh performed an experiment with 15 earthworms._ They were placed on a tray under

pieces W ] an. m : ' fallen.
Tl leaves

tray

s'i!j’

earthworms

dead plant

the table below

- Type of food Number of earthworm
[t oo e ot saraz
Plege_s of bark ; :

Fallen leaves
Dead plant matter
Bread crumbs

(a) What was the aim of the experiment?(1m)

he do to make his test a fair one? (2m)

63




Study the informsis | gvan helow carefully.

3%
& preys on Q

S and - are both aprey and a predator
Q.#nd R depend on P only for food

vAand T are carnivores

& 6 9 9

{a) Complete the food web below using the above criteria. (2m)

d

v

(p) What do the arrows in the food web indicate?

(1Tm)..

24
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38. The diagram below shows a focd web in a rice field.

(a)

(b)

grasshopper » spider

7

rice » rat

-snake - > hawk

After a population of Animal Y was released into the field, the number of rats
decreased and the number of grasshoppers increased. ‘

Which organism did Animal Y feed on? (assuming Y did not feed on the rats}
Explain your answer. (1m)

If the farmer wanted t0 reduce the populatian of'snakes in thé shortest period of

time,
how would he change the population sizes of 2 other organisms in the above food
web? Give an explanation to each of the changes. (2m)

Change 1:

Change 2:

25
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39, Four pieces of similar sizes of butter were placed and sealed in four containers mace

of different materials as shown below.

G

N
I

AR
S RRERRE

------------

Material P

The graph below shows the time taken for the butter in each container to melt

completely.

Time taken

A

Material Q

Material S

Material R

» Materiat

(a) Based on the information given, which material is the most suitable for making a

thermal-flask? Explain your answer. (1m)

(b) How does the property mentioned in (a) help tfo keep the content warm? (1m)

26
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40.

The diagram below shows a battery, two bulbs and two pieces of wires.

USing not more than 4 wires each, connect the battery to the bulbs such that

° inarrangement A, even if one buib blows, the other bulb will stifl light up.

e the bulbs in arrangemént in B are brighter than those in arrangement A.

(2m)

Arrangement A

Arrangement B

27
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4

]

fudy a0 L0 Lo s hiown below.

f

4

(a) How can you tell that along the path of the swing, a force is acting on if? (1m)

(b) State the energy change of the swing from Position A to C. {1m}

Position A ‘Position B Position C |

28
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42.

James conducted an experiment to find out how the strength of a magnét would be
affected after being hit by an-iron hammer. He recorded the number of times the
magnet was hammered and then measured the distance the magnet must be placed

from a paper clip in order to attract it.

T

e e T I

magnet - ~ — paper clip

Distance Z

The graph below shows the resuits of his experiment.

(a)

(b)

Distance Z 5 2
{cm)

Q2N Wh

No. of times hammered

Read the statements in the following tabte and decide whether they are true. false or
not possible to tell. Put a tick (¥) in the correct column against each statement. (2m)

Statement ' True | False |* Not possible
to tell

1. { After 25 times of hammering, the magnet
could no tonger attract'a paper clip.

2. | Before being hammered, the magnet could
attract a paper clip from a distance of 8cm.

3. | After 15 times of hammering, the magnet
could not attract a paper clip from a distance
of 1cm.

4. | After. hammering, the magnet could attract
only 9 paper tlips.

Name one common use of magnet. {1m)

49




43. The graph shows the increase in the lengths of two springs, P and Q, when loads are
hung on them.

Increase in length
(cm)

4

4 T
]

15 20

Load (g)

(a) Study the graph carefully and complete the table.(2m)

Spring tnitial length (cm) Load (g) Final length {cm})
P 5 6
Q 5 15

(b) In his coming shooting session, Peter needs to shoot down as mam&t'iri cans as
possible, in order to be selected to represent his club in the finals.

The diagram below shows a pépgun that works using a spring. When the trigger is

pulled back and released, the ball will pop out of the gun.

tin cans

ball

spring

popgun

Which spring, P or Q, should he use in his pop gun? Explain your answer. (1m)

30



44 A group of pupils carried out an investigation on evaporation.. They filled-a-containee —— —————

~ with 500mI of water and placed it under a tree.

They checked the amount of water left in the container every two hours and recorded
their results in the table as shown below. -

B Light intensity( Lux) Amount of water left (ml)
200 475" )
400 450.
600 i : 350
800 : __ 275 - ,
1000 | 50 - 1

- (@) Basedon the data given in the table, draw a fine graph. (1m)

Amount of water left (ml)

500

450

400

B50

300

250

200

150

100

50

(b) What is the relationship between the amount of water left in the container and the hight
mtens:ty’? (im) - e B o

31
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45 Sarn hoaaw coins Liguid Z at room temperature for 8 minutes. He 7 QMU~'~."‘-°[
- . . - - %
temperature of the liquid every 2 minutes. The results were presentd
below. - ) '

Temperature (°C}

N
A
B
&
[ i i
[ } JI % > Time (min)
0 2 .4 6 8

{(a) If the room temperature was 20°C and the boiling point of Liquid Z was 80°C, mark
and label the two temperatures in the graph above. (1m) o

{b) If Sam continued to heat Liquid Z throughout the experiment, suggest a possible
reason for the change in temperature between 6" and 8" minute. (1m)

- w



the various balls onto the sand pit as shown in the table.

A

B

L

4§;7Pj@i@§h  wainted to find out if the weight ¢ of the ball determines the depth of the dent
Made on the sand pit. He carried out his experiment at the desi

H—FSand'pit

gnated positions to droy,

Set-up Type of ball Weight of ball {kg) “Position of ball
1 Iron 1 | A
2 Wooden 0.8 A
3 Plastic 1 B
4 Iron 1 C
i_ 5 - Steel” - 0.6 B

(@) Which two set-ups should he use to achieve his aim? (1m)

(b} If Prakash used set-ups 1, and 4, what conclusion would he arrive at, in relation to

_the depth of dent on the sand pit? (1m)

(c) Which set-up would cause the deepest dent on the sand pit?
Explain your answer. (1my)

*** End of Paper ***

33
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Red Swastika Primary School
Primary 6 Science SA1 Exams (2008)

Qo. Ans Qn no. Ans Qnno Ans
1 1 11 4 21 2
2 4 12 4 22 1
3 3 13 4 23 2
4 2 14 2 24 3
5 1 15 g4 25 1
6 4 16 2 26 2
7 1 17 2 27 3
8 3 18 3 28 1
9 1 19 4 29 3
10 2 20 3 30 2
3a. B and D. Sunlight can pass through coloured cellophane papers. The green part of the
leaf containers chlorophyll which can trap light energy to make food. The white part
no chlorophyll, so'it eannot make food and no starch.
31b. The aim was to find out if different coloured cellophane paper affects photosynthesize.
32a. It is a flowering plant with a strong and moody stem.
32b. Y
32c. Its weak stem can twine round a support and some have clasping roots to eling onto a
support to get enough sunlight.
33a, System B : circulatory system
C : respiratory system
33b. It breaks down food into simpler substances so that it can be absorbed into the blood
stream.
34a. 200
34b. There was a disease which spread among the animals.
35a. Damselfly nymph
35b. 1t has a streamlined boy which lowers water resistance but the dragonfly nymph does
not.
36a. The aim was to test which kind of food earthworms are most attracted to.
36b. He should put the same amount of food at each corner of the tray and put the food at an

equal distance away from the earthworms.

- Pagelof3 Red Swastika — (P6) SA1 Science 2008




37a.

37b.

38a.

38b.

39a.

39D.

40a.

40b.

41a.
41b.

The arrows indicate energy transferred from one ammal to the other.

It feeds on the spiders. If'Y feeds on the spiders there would be fewer spiders to feed on
the grasshoppers and the grasshopper population will increase, however there would be
fewer spiders for the rats to feed on so the rat population will decrease.
(1) Remove some rats from the rice field so the snake would have less food to eat
and its population would soon decrease.
(2) Add in more hawks to the rice field so that there would be more hawks to prey
on the snakes and its population would decrease

Material S. It is the best insulator of heat compared with the other materials as the

butter takes the longest time to melt.
1t will take the longest time to conduct heat; hence it helps to keep the content warm.

The swing tends to travel faster at point B.
Potential energy — kinetic energy — potential energy

- PageZof3 Red Swastika ~ (P6) SA1 Science 2008




42a. {1) Not () T (3) False (4) Not
42b. It is used to separate magnetic objects from non-magnetic.object.

43a. P =3 Q =65
43b. P. P has more elastic spring force than Q.

44a. i)a )

£pd

Q00
(S0
1D
Lo

O 90 Hoo  Lus  god Lo

44b. As the light intensity increases, the amount of water left decreases.

45a,

45b.

46a. Setup 3 and 5

46b. The higher the ball is dropped, the greatest is the depth of dent on the sand pit.

46¢. Set-up 1 wouldcause the deepest dent on the sand pit because it has the greatest
potential energy.
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